A T = # = -3 i
HiRA TRt EEESEERA S A RS EAEERETE No.1
I /& - # B iR 1% g = REtEE | B | B
(BEDEBETL]
<@EEPpHiELI>
S IR LI BT 7 A7 IVMNEREE R 2.08+ 2.07= 4.2 4
SHEERRIZ : 15cmLF m
SRR R NERE L T) [T A77 IV MER 2R R iR EHEELY 31.7 32
EHEERRIE : 5emBl A m2
W) -MEEYEURL (SKEEEY HEET 1,190kg/A = 2,500kg/m3 — 2.0m/A X 16.0m = 3.81 43 4
87kg/#X = 2,500kg/m3 X 144K = 0.49 m3
<ERULET >
FOE M TAI7 ISR 31.7 ¥ 0.05 = 1.6 2
m3
a5y TAI7 ISR 31.7 ¥ 0.05 = 1.6 2
m3
OB ARV MR 38+05= 43 4
m3
A5 $RERIVDY 5% 43 4

m3
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R4 mEEESEERERA S A EYRAEESETE No.2
I %% - # B iR % = REtEE | B | B
[BEkBEEDT]
<E¥xt1T>
RIEY INRIE TR 10.4+8.6= 19.0 20
m3
BEREL INREE TR GRAL) 6.4+9.2= 15.6 20
m3
<BHELIHWNET>
T RYEERR T 19.0-15.6= 3.4 3
m3
Rt FNn T 3.4 3
m3
<fEI>
BHDEAIE HtWr A 500 % 800 X 2,000 AAERmE LY 15.2 15
m
<&EXkM-vvh-nIT>
7 LEvARE Kt 600X 600 X 1000 600ke%#8z800ke T |BIFKEE &Y 1.0 1
MET-25 LEE 110° BIR & AT
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R4 mEEESEERERA S A EYRAEESETE No.3
I %% - # B b5 % = REtEE | B | B =
[BET]
<EHFEERI>
REEIE WEMA HERAZRA M-30 |FIEHEtEELY 20.2 20 TEg
T H4t=3cm m2 (ZEER)
<@HEIT|ZT>
TEiRiE BARA RC-30 AR EHEE LY 12.1 12
T EYE:10cm m2
LR RIEREMRA M-30 Al ETEE LY 12.7 13
T EYE:10cm m2
REEE-KREL |BEZRETAIVAI) AIEBEHEE LY 31.0 31
EHEEE 5cm FHNES 1.4mLL E3OmLLT m2
[fRE&x]
<RBEEEI>
RBEFEZHKE REFEZHEB(RRMH) 1.0 1




3 = i g £ No.1
mEEESEERAS A RYARABEETS _ _ _ _ _ _
- FEiEY GEERAD EEiEY (Rih Al 18R LG 1L):8 BRI EHRLGRE L) it
A = XmgEst | m | T | 2 B e | Ty 2 BlHE| Ty 2 B|HE|FEH| 2 B
B @ B @ B @ B @
No.0 0.9 0.1 05 0.1
NoO + 083 0.83 0.9 0.90 0.7 0.1 0.10 0.1 05 0.50 0.4 0.1 0.10 0.1
0.83 0.00 0.6 0.6 0.4 0.6
NoO + 095 0.12 0.6 0.60 0.1 0.6 0.60 0.1 0.4 0.40 0.0 0.6 0.60 0.1
NoO + 25 1.55 0.6 0.60 0.9 0.6 0.60 0.9 0.4 0.40 0.6 0.6 0.60 0.9
NoO + 100 75 0.7 0.65 49 05 0.55 41 0.4 0.40 3.0 0.6 0.60 45
NoO + 145 45 0.6 0.65 29 0.6 0.55 25 0.4 0.40 18 0.6 0.60 27
NoO + 16.0 15 0.6 0.60 0.9 0.6 0.60 0.9 0.4 0.40 0.6 0.6 0.60 0.9
16.0 10.4 8.6 6.4 9.2
P =
= A
T EESHE RC-30 t=10cm L ERRAE M-30 t=10cm FEEE FHt-acm M-30 | RiB L& R As(13)t=5em AsEHE IR B A% (t=5cm)
A = XRMEEH [ & | TH | F B|BE|FEFH | F R|BE|FTH| F & EE | T F B|M®BE | EH|FT R
g 8 B 8 g 8 g 8 g 8
No.0 0.80 0.85 1.10 1.95 2.07
NoO + 083 0.83 0.80 0.80 0.7 0.85 0.85 0.7 1.10 1.10 0.9 1.95 1.95 16 2.07 2.07 1.7
0.83 0.00 0.75 0.79 1.27 2.06 2.07
NoO + 095 0.12 0.75 0.75 0.1 0.79 0.79 0.1 1.27 127 0.2 2.06 2.06 0.2 2.07 2.07 0.2
NoO + 25 1.55 0.75 0.75 1.2 0.79 0.79 1.2 1.27 127 2.0 2.06 2.06 3.2 2.08 2.08 3.2
NoO + 100 75 0.74 0.75 5.6 0.79 0.79 5.9 1.24 1.26 95 2.03 2.05 15.4 214 2.11 15.8
NoO + 145 45 0.75 0.75 3.4 0.79 0.79 3.6 1.28 1.26 5.7 2.08 2.06 9.3 2.09 2.12 95
NoO + 16.0 15 0.75 0.75 1.1 0.80 0.80 1.2 1.29 1.29 19 2.08 2.08 3.1 2.08 2.09 3.1
R (1.75+3.0)*0.75/2=1.78 —1.8](1.75+3.0)%0.75/2=1.78 -1.8
16.0 12.1 12.7 20.2 310 31.7
P =
= A




H H A B B EE
10.0 m3¥4Y
T & B X HAr %% & i
B B A E 10.00 10.0
1000kg/fELL T m
AR AT ZE AR 10.0 /2.0 = 5.00 5.0 (840kg/A%)
HEWT A 5004800 A
AN =pa Y= 0.50 * 0.09 * 10.0 = 0.45 0.5 LD
/R 18-8-25BB m3
YU 7Y~} 0.82% 0.15 % 10.0 = 1.23 1.2 \BEtD A
4475 18-8-40BB m3
ESCYZIRN ) 5.00 5.0
170kg/# LT e
a )b 5.00 5.0
HOEH J#EmE500 %
ZhR (L) 5.00 5.0
40kg/F LA T e
PVv—FrE 5.00 5.0
T-25 #1E500 i
[E%=]
il 0.15 % 10.0 % 2 = 3.00 3.0
— TR m2
7V AME KB YEtEE
10.0 f&iFT4Y
T F i Y HAL L %% & i I
7 VR ANE K 10.00 10.0 (707kg/%5)
600%600%1000 K
7 VR ANE K 10.00 10.0
HEfT 600ke% 2 800kg LA F %
PZa N =7 0.60%0.60%0.05%10.0= 0.18 0.2
/R 18-8-40BB m3
B Eily (0.93+0.93)%2:0.15%10.0= 5.58 5.6
— T A m2
WIUILHE )= 0.93%0.93%0.15%10.0= 1.30 1.3
417 18-8-40BB m3




